## LEARN THRU MOVEMENT, INC Math & Movement



PO Box 4017 Ithaca, NY 14852 6072334209

orders@mathandmovement.com

ADDRESS

Emma Koontz SAMPLE SCHOOL NAME 2012 Dryden Rd Freeville, NY 13068 SHIP TO

Emma Koontz SAMPLE SCHOOL NAME 2012 Dryden Rd Freeville, NY 13068

QUOTE#	DATE	
3523	05/12/2025	

## P.O. NUMBER

K-2 Literacy Kit

ACTIVITY	QTY	RATE	AMOUNT
KINDERGARTEN			
sk0019e Spelling Animals I (eBook)	1	4.95	4.95
sk0025e The ABCs of Math and Movement 2's (e-book)	1	9.95	9.95
sk0030e Visual Discrimination Exercises Kindergarten (eBook)	1	19.95	19.95
sk0052 Jump and Learn Words workbook (e-book) offers enjoyable practice with 203 Dolch sight words. Students trace, search for, and spell each word. Seven additional questions are included for each word to strengthen a student's word knowledge. Word lists and pre-and post-tests are included. Including physical activity makes the process of learning fun! To speed word recognition and reading fluency, use the book along with the Jump and Learn method! Large words with bright background colors are displayed on the ground, allowing students to repeatedly jump on each word while saying the word out loud!	1	14.95	14.95
Honey, A Math Adventure	3	9.95	29.85

ACTIVITY	QTY	RATE	AMOUNT
Honey, A Math Adventure			
Buddies A Math Adventure Buddies: A Math Adventure	3	9.95	29.85
hl019	3	295.00	885.00
Alphabet Hop Mat	4	05.00	05.00
hl008 Color Hop Floor Mat	1	95.00	95.00
hl009 Number Word Hop Mat	1	95.00	95.00
Set - hl024 - Make-A-Word Hop Make-A-Word Hop Mat and Cards	1	395.00	395.00
hl025 Days of the Week Hop Mat	1	95.00	95.00
hI055 Months of the Year Hop Mat FIRST GRADE	1	95.00	95.00
Honey, A Math Adventure Honey, A Math Adventure	3	9.95	29.85
Buddies A Math Adventure Buddies: A Math Adventure	3	9.95	29.85
sk0031e Visual Discrimination Exercises 1st Grade (eBook)	1	19.95	19.95
HL255 100 Word Hop Mat 10' by 10' with velcro	1	395.00	395.00
hl011 Word Blending Hopping Mat Double H	1	135.00	135.00
hl012 Word Blending Hopping Mat Double L	1	135.00	135.00
hl013 Word Blending Hopping Mat Double R	1	135.00	135.00
hl014 Word Blending Hopping Mat Double S	1	135.00	135.00
hl015 Word Blending Hopping Mat Single B-H	3	135.00	405.00
hl016 Word Blending Hopping Mat Single J-P	1	135.00	135.00
hl017 Word Blending Hopping Mat Single 3-1 Word Blending Hopping Mat Single R-Z	1	135.00	135.00
Word Blending Cards			
hl020 Vowel Hop Mat	1	75.00	75.00
hl021 Confusing Letter Hop Mat	1	85.00	85.00
hl022 - Sentence Hop A set Sentence Hop Mat A	1	150.00	150.00
hl022c	1	0.00	0.00

ACTIVITY	QTY	RATE	AMOUNT
Sentence Hop Mat A Cards			
hl023 - Sentence Hop B set Sentence Hop Mat B	1	150.00	150.00
hl023c	1	0.00	0.00
Sentence Hop Mat B Cards hl110 - Sentence Hop C Set Sentence Hop Mat C	1	150.00	150.00
hl110c Sentence Hop Mat C Cards	1	0.00	0.00
hl111 - Sentence Hop D Set Sentence Hop Mat D	3	150.00	450.00
hl111c Sentence Hop Mat D Cards	1	0.00	0.00
HL194 Spell-A-Word HopIncludes Cards SECOND GRADE	1	395.00	395.00
sk0032e Visual Discrimination Exercises 2nd Grade (eBook)	1	19.95	19.95
HL256 100 Word Hop Mat ADVANCED WORDS	1	395.00	395.00
HL194 Spell-A-Word HopIncludes Cards	1	395.00	395.00
hl121 Suzy Koontz's "TH" Words	3	95.00	285.00
Contains the words the, they, then, them, these, this, and that			
hl120 Question Wordswho, what, where, when, why, whose, whom	3	95.00	285.00
WORD HOP SET (K-2-Ideal for 1st and 2nd grade)			
hl026 Word Hop Floor Mat A List	1	95.00	95.00
hl027 Word Hop Floor Mat B List	1	95.00	95.00
hl028	1	95.00	95.00
Word Hop Floor Mat C List hl029	1	95.00	95.00
Word Hop Floor Mat D List hl030	1	95.00	95.00
Word Hop Floor Mat E List hl031	1	95.00	95.00
Word Hop Floor Mat F List hl032	1	95.00	95.00
Word Hop Floor Mat G List	1	95.00	95.00
	1	33.00	33.00

ACTIVITY	QTY	RATE	AMOUNT
Word Hop Floor Mat H List			
hl034 Word Hop Floor Mat I List	1	95.00	95.00
hl035	1	95.00	95.00
Word Hop Floor Mat J List hl036	1	95.00	95.00
Word Hop Floor Mat K List	ı	95.00	
hl037 Word Hop Floor Mat L List	1	95.00	95.00
hl038	1	95.00	95.00
Word Hop Floor Mat M List hl039	1	95.00	95.00
Word Hop Floor Mat N List			
hl040 Word Hop Floor Mat O List	1	95.00	95.00
hl041 Word Hop Floor Mat P List	1	95.00	95.00
hl042	1	95.00	95.00
Word Hop Floor Mat Q List hl043	1	95.00	95.00
Word Hop Floor Mat R List	'		
hl044 Word Hop Floor Mat S List	1	95.00	95.00
hl067	1	95.00	95.00
Word Hop Floor Mat T List hl045	1	95.00	95.00
Word Hop Floor Mat U List	4	05.00	05.00
hl046 Word Hop Floor Mat V List	1	95.00	95.00
hl047 Word Hop Floor Mat W List	1	95.00	95.00
hl048	1	95.00	95.00
Word Hop Floor Mat X List hl049	1	95.00	95.00
Word Hop Floor Mat Y List			
hl050 Word Hop Floor Mat Z List	1	95.00	95.00
hl051 Word Hop Floor Mat AA List	1	95.00	95.00
hl052	1	95.00	95.00
Word Hop Floor Mat AB List hl053	1	05.00	05.00
Word Hop Floor Mat AC List	'	95.00	95.00
hl083DigitalTRACE Tracing Sheets for all of the words on the	1	9.95	9.95
following floor mats: Word Hop Mat A: I, A, The, Go, Can, Is,			
Me-hl026			

ACTIVITY	QTY	RATE	AMOUNT
Word Hop Mat B: To, In, It, Run, Did, Like,			
And-hl027			
Word Hop Mat C: Not, We, Get, Said, My,			
See, You-hl028			
Word Hop Mat D: Have, Are, No, What,			
Do, At, On-hl029 Word Hop Mat E: Was, For, Come, Funny,			
He, Jump, Little-hl030			
Word Hop Mat F: Will, Too, Look, Of, Play,			
This, Up-hl031			
Word Hop Mat G: Saw, Ran, One, Here,			
Good, Down, Big-hl032			
Word Hop Mat H: Away, Yes, All, Am, Around, But, By-hl033			
Word Hop Mat I: Call, Came, Eat, Fast,			
An, Stop, Some-hl034			
Word Hop Mat J: She, Who, Out, Old,			
Make, Into, Going-hI035			
Word Hop Mat K: Her, Help, Had, Give, From, Fly, Cold-hl036			
Word Hop Mat L: Be, As, After, Your,			
Under, Soon, So-hl037			
Word Hop Mat M: Round, Ride, Its, If, His,			
Him, May-hl038			
Word Hop Mat N: Many, Made, Live, Let,			
Know, Has, Got-hl039 Word Hop Mat O: Gave, Find, When,			
Walk, They, Then, Them-hl040			
Word Hop Mat P: That, Put, Over, Now,			
New, About, Could-hl041			
Word Hop Mat Q: Ask, Always, Any,			
Again, Ate, With, Were-hl042			
Word Hop Mat R: Went, Take, Say, Our, Once, Or, Long-hl043			
Word Hop Mat S: How, First, Found,			
Does, Been, Because, Bring-hl044			
Word Hop Mat T: Wish, Want, Would,			
Upon, Us, There, Tell-hl067			
Word Hop Mat U: Pull, Only, Open, Never, Must, Much, Goes-hl045			
Word Hop Mat V: Every, Done, Before,			
Which, Work, Very, Think-hl046			
Word Hop Mat W: Those, Their, These,			
Small, Show, Sit, Keep-hl047			
Word Hop Mat X: Just, Hold, Hot, Grown, Fall, Drink, Draw-hl048			
Word Hop Mat Y: Buy, Where, Try, Today,			
Shall, Read, Pick-hl049			
Word Hop Mat Z: Please, Pretty, Off, Own,			
Myself, Full, Cut-hl050			
Word Hop Mat AA: Clean, Both, Best,			
Better, Write, Why, Well-hl051 Word Hop Mat AB: Use, Together, Wash,			
Warm, Thank, Sing, Start-hl052			
Word Hop Mat AC: Sleep, Right, Laugh,			

ACTIVITY	QTY	RATE	AMOUNT
Light, Kind, Hurt, Far-hl053			
		SUBTOTAL	9,059.05
		SHIPPING	424.95
		TOTAL	\$9,484.00

Accepted By

Accepted Date